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1. (2022 « EHRIEL « %k) ERE f(x)=x———5Inx BJEEVEIBRIX AN ¢ )
f

(A) (0,2) (B (2,3) (© (1,3) (D) (3,+»)

ZHZX: B

- S , 6 5 x*"=5x+6 (x=2)(x-3
HEFIT - Al fx)=l+—=5-—= 5 =( )g ),
X X X by

x>0,

FITUL f'(x) <0< 2<x<3, B f(x) B IIERIX [E] A (2,3).
2. (2023 « KRR « %k ) WREL f(x)= (x> +3x+1De*s K f(x) KItRkE.

B HEE, (xX)=Q2x+3)e" +(x° +3x+De" =(x" +5x +4)e" = (x+1)(x +4)e*,

L £'(x) >0 x<48x>-1, f(x)<0-4<x<-1,
M £ (x)7E (—o0,—4) £ 7, 1 (4,-1) L\, 7 (-1,+0) L 7,
W () BWKRIE f(4) =57 W/ME F(-1)=—"".

3. (2021 « £EFHIE « hk) CHla>0 Ha=l, ﬁﬁf(x)=§(x>0), Ha=20, K f(x) B H
a

[X [].

2x-2"=2"In2-x° ~ xX(2-xIn2)
(2.1:)2 2x ’

B Ha=28, f()="-(x>0), FTLS ()=

: 2 , 2
U\ﬁﬁf(x)>0<::>0<x<ﬂ, f(x)<0<:>x>E,

YT T 2 2 S S P 2
Eﬁ f(.)C) E@Eglﬁﬁiilﬁ]%((),ﬁ): —Eilﬁﬁf}iilﬁ]%(ﬁﬂ+®).
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4. (2022 « J RN =HR « k) CHRIREL f(x)=x—2sinx, K f(x)1E (0, 7) LRITKAE.

f: HAZ, f'(x)=1-2cosx,

T 1

ﬁﬁui—’0<x<§[ﬁ, cosx>%, M f'(x) <0 £5§<x<7rﬁﬂ“, cosX <> M f'(x) >0

() 1E (0,§)J:Eiﬂ%ﬂi$vﬁ)2, iz (gﬂ)ﬁéaﬁﬁi, FTLL £ () A%/ IME f(§)=%—\/§ . T RAH.

Ay
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5. (2022 « [ EEEBMNHAR « dkk) CDEIREL £(x) = xe —%ﬁ —x—1, RKRZEL f(x) FIRAE.

B: AR, ff)=(x+De"—x—1=(x+1)(e"-1);

Hx<-10, x+1<0, e =1<0, Frld f'(x)>0;

H-1<x<O0Bf, x+1>0, " —=1<0, FrLh f'(x)<0;
Hx>00, x+1>0, e -1>0, AL f'(x)>0;
M £ (%) 7E (o0, —1) i3S, 78 (-1,0) b, 7F (0,+o00) I i1,

W f () ARKE f(-1) = W/ME £(0)=—1.

6. (2022 « PUJIIFRAFIHIA « sk a%u@%zf(x)=2x1nx-%x2-x+z, R £(x)1E (0,2] i /IMA.

. HEE, f(x)=2Ihx-x+1,

B =/ (), Wg)==-1=""

M xe(0,2]0, g'(x)=0, FTEL £(x)7E (0,2] L i,

N f'M=0, FrblBo<x<1B, £'(x)<0; Hl1<x<2K, f'(x)>0,

1

MM £ (x) 72 (0,1) FER bk, 7£ (1,2] FE e, # £ (x) 7E (0,2] ERIE/AMER £(1) = :

7. (2022 « RERBAL « deokk ) CFITEREL f(x)ze—x-l-hlx—x, 3K £(c) Y ER T [X[A].
X

ﬁg: IEI%E%EC: f'(x)z(x_?e +l_1:(x_1)(f _x)
X X X

. x>0,

wWag(x)=e" —x(x>0), N g'(x)=e"-1>0, PArLl g(x)1E (0,+o0) I H i3,
X g(0)=1>0, FrLL g(x)>01EROL, Ml f'(x)>0<=x>1, f'(x)<0<=0<x<1,
W £ (o) B BRI B 1 [X ]2 (1, 400), ERIEIE I X [A] 42 (0,1).

8. (2023 « A[HFHHEIIE « dokh) THI £(x)=ax — Smf , xe(o,g). Fa=8, WL £(x) M.
COS X

R #a=8, | f(x)=8x———r,
COS X

X cos” x+3sin“x 8cos’x—cos® x—3sin” x
i — b
cos’ x cos” x cos” x

cosx-cos’ x —3cos” x(—sinx)sinx

FILA £'(x) =8 -

8cos® x —cos” x—3(1—cos’x) 8cos'x+2cos’x—3 (2cos’ x—1)(4cos” x +3)

W f(x) =

cos” x cos” x cos” x



0 < x < 2 B, V2

<cosx<1l, FATEL2cos’x—1>0, W f'(x)>0,

4 2
¥'E<x<§|ﬁ, 0<cosx<\/2§, Pl 2cos® x—1<0, & f'(x)<0,

A £(x) 76 (0,2 Fepifstd, 76 (2,2 b eaiisim.



